					30	s at FRIDAY,2	October 2000	1					
					a	,		<u>'</u>					
		United States	Dollar (USD)			Australia D	ollar (AUD)			New Zealand	Dollar (NZD)		
	BU	JΥ	SE	LL	В	UY	SE	LL	Bl	JY	SE	ELL	
	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	
Westpac Bank of Tonga	0.5341	0.5586	0.5121	0.5121	0.6119	0.6481	0.5819	0.5819	0.7443	0.7803	0.7093	0.7093	Westpac Bank of Tonga
ANZ	0.5344	0.5574	0.5124	0.5124	0.6107	0.6497	0.5807	0.5807	0.7422	0.7832	0.7072	0.7072	ANZ
MBf	0.5341	0.5587	0.5121	0.5128	0.6119	0.6494	0.5819	0.5814	0.7443	0.7813	0.7093	0.7092	MBf
Fexco Tonga Ltd		0.5546	0.5209	0.5181		0.6464	0.5932	0.5882		0.7794	0.7283	0.7142	Fexco Tonga Ltd
Rowena							0.6369				0.7751		Rowena
Melie Mei Langi		0.5650		0.5128		0.6579		0.5814		0.7937		0.7092	Melie Mei Langi
Mana	0.5561	0.5561	0.5341	0.5341	0.6419	0.6419	0.6119	0.6119	0.7793	0.7793	0.7443	0.7443	Mana
MoneyGram	0.5394		0.5022		0.6075		0.5625		0.7614		0.6871		MoneyGram
									S	ource: Natior	nal Reserve B	ank of Tonga	1
Notes:	BUY is the rate	at which foreig	n currency is	changed to pa	anga								
	SELL is the rat	e at which pa'a	nga is change	d to foreian cu	rrencv								

					SE	LECTED EXC	HANGE RATE	S					
					as	at FRIDAY, 9	October 2009	)					
		United States	Dollar (USD)			Australia D	ollar (AUD)			New Zealand	Dollar (NZD)		
	BU	ΙΥ	SE	LL	В	UΥ	SE	LL	BI	JΥ	SE	LL	
	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	
Westpac Bank of Tonga	0.5418	0.5671	0.5198	0.5198	0.5969	0.6314	0.5669	0.5669	0.7280	0.7625	0.6930	0.6930	Westpac Bank of Tonga
ANZ	0.5423	0.5653	0.5203	0.5203	0.5943	0.6333	0.5643	0.5643	0.7241	0.7651	0.6891	0.6891	ANZ
MBf	0.5418	0.5682	0.5198	0.5208	0.5969	0.6329	0.5669	0.5682	0.7280	0.7634	0.6930	0.6944	MBf
Fexco Tonga Ltd		0.5624	0.5239	0.5263		0.6301	0.5729	0.5714		0.7610	0.7060	0.6944	Fexco Tonga Ltd
Rowena							0.6369				0.7751		Rowena
Melie Mei Langi		0.5747		0.5208		0.6410		0.5682		0.7752		0.6944	Melie Mei Langi
MoneyGram	0.5465		0.5088		0.6101		0.5649		0.7575		0.6836		MoneyGram
										Source: Nation			
Notes:	BUY is the rate	at which foreig	n currency is c	hanged to pa'a	nga								
	SELL is the rate	e at which pa'ar	nga is changed	to foreign curr	ency								

					SE	LECTED EXC	HANGE RATE	S					
					as	at FRIDAY, 10	6 October 200	9					
		United States	Dollar (USD)			Australia D	ollar (AUD)			New Zealand	Dollar (NZD)		
	BU	Υ	SE	LL	В	UΥ	SE	LL	BU	JΥ	SE	ELL	
	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	
Westpac Bank of Tonga	0.5440	0.5695	0.5220	0.5220	0.5913	0.6252	0.5613	0.5613	0.7313	0.7661	0.6963	0.6963	Westpac Bank of Tonga
ANZ	0.5446	0.5676	0.5226	0.5226	0.5885	0.6275	0.5585	0.5585	0.7276	0.7686	0.6926	0.6926	ANZ
MBf	0.5440	0.5682	0.5220	0.5208	0.5913	0.6250	0.5613	0.5618	0.7313	0.7634	0.6963	0.6944	MBf
Fexco Tonga Ltd		0.5647	0.5278	0.5291		0.6243	0.5694	0.5650		0.7646	0.7113	0.6993	Fexco Tonga Ltd
Rowena							0.6369				0.7751		Rowena
Melie Mei Langi		0.5780		0.5208		0.6369		0.5618		0.7813		0.6944	Melie Mei Langi
									5	Source: Nation			
Notes:	BUY is the rate	at which foreig	n currency is c	hanged to pa'a	nga								
	SELL is the rate	e at which pa'ar	nga is changed	to foreign curr	ency								

					SE	LECTED EXC	HANGE RATE	S					
					as	at FRIDAY, 2	3 October 200	9					
		United States	Dollar (USD)			Australia D	ollar (AUD)			New Zealand	Dollar (NZD)		
	BU	ΙΥ	SE	LL	В	UY	SE	LL	В	JY	SE	ELL	
	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	
Westpac Bank of Tonga	0.5464	0.5721	0.5244	0.5244	0.5890	0.6226	0.5590	0.5590	0.7199	0.7535	0.6849	0.6849	Westpac Bank of Tonga
ANZ	0.5470	0.5700	0.5250	0.5250	0.5859	0.6249	0.5559	0.5559	0.7154	0.7564	0.6804	0.6804	ANZ
MBf	0.5464	0.5714	0.5244	0.5236	0.5890	0.6211	0.5590	0.5587	0.7199	0.7519	0.6849	0.6849	MBf
Fexco Tonga Ltd		0.5672	0.5331	0.5291		0.6219	0.5719	0.5618		0.7524	0.7066	0.6849	Fexco Tonga Ltd
Rowena							0.6250				0.7462		Rowena
Melie Mei Langi		0.5814		0.5263		0.6329		0.5587		0.7692		0.6849	Melie Mei Langi
Mana	0.5684	0.5684	0.5464	0.5464	0.6190	0.6190	0.5890	0.5890	0.7549	0.7549	0.7199	0.7199	Mana
MoneyGram	0.5559		0.5176		0.5961		0.5520		0.7477		0.6747		MoneyGram
										Source: Nation	nal Reserve B	ank of Tonga	
Notes:	BUY is the rate	at which foreig	n currency is o	hanged to pa'a	inga								
	SELL is the rate	e at which pa'ar	nga is changed	to foreign curr	ency								

					SE	LECTED EXC	HANGE RATE	S					
	as at FRIDAY, 30 October 2009												
		United States	Dollar (USD)			Australia D	Oollar (AUD)			New Zealand	Dollar (NZD)		
	BU	ΙΥ	SE	LL	BUY		SELL		BUY		SELL		
	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	TT	NOTES	
Westpac Bank of Tonga	0.5405	0.5657	0.5185	0.5185	0.5897	0.6234	0.5597	0.5597	0.7353	0.7705	0.7003	0.7003	Westpac Bank of Tonga
ANZ	0.5410	0.5640	0.5190	0.5190	0.5862	0.6252	0.5562	0.5562	0.7325	0.7735	0.6975	0.6975	ANZ
MBf	0.5405	0.5650	0.5185	0.5181	0.5897	0.6250	0.5597	0.5587	0.7353	0.7692	0.7003	0.6993	MBf
Fexco Tonga Ltd		0.5612	0.5245	0.5236		0.6223	0.5676	0.5618		0.7698	0.7150	0.7042	Fexco Tonga Ltd
Rowena							0.6250				0.7633		Rowena
Melie Mei Langi		0.5747		0.5181		0.6329		0.5587		0.7874		0.6993	Melie Mei Langi
Mana	0.5625	0.5625	0.5405	0.5405	0.6197	0.6197	0.5897	0.5897	0.7703	0.7703	0.7353	0.7353	Mana
									5	Source: Nation	al Reserve B	ank of Tonga	
Notes: I	<b>BUY</b> is the rate	at which foreig	gn currency is	changed to pa	anga								
	SELL is the rat	e at which pa'a	nga is change	d to foreign cu	rrenc								